o 0.8 4 0.6
© r 4
o O e S AR 1
QL C i 0.5
S . AF ]
e O | o s R S |
O C 0.4
< F ]
L 0.5 dmt e 1
- 0.3
(0 e RRLLIERRRRE ]
| RIS SIS £ 0.2
0.2F 5o ]
- 0.1
O e == i
L : : s : ]
O Q_I L J [ W P | . . L1 1 | L1 1 | 111 O 1
= [ 5 g g ; 0
o F : . [ —=— DQM_noFit_stepZ_ttbar-phasel-newgeom
0.95 A : | —e— DQM_noCPE_step2_ttbar-phasel-newgeom
i : i | —— DQM_cpeGenericTime_step2_ttbar-phasel-newgeom
- : : | —— DQM_cpeTemplatedTime_step2_ttbar-phasel-newgeom
ool : : : DT

1 2 3 4 5
Efficiency vs. cut on dz(PV)
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